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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 9 × 2 = 18
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Which is the deepest ocean trench in the world?

		  {díd H$m g~go Jham gmJar¶ JV© H$m¡Zgm h¡?

	 (ii)	 Where laterite soil is found in India?

		  boQ>oamBQ> ‘¥Xm ^maV ‘| H$hm± nmB© OmVr h¡?

	 (iii)	 Copper is extracted in which states of India?

		  ^maV ‘| Vm±~m {H$Z amÁ¶m| ‘| {ZH$mbm OmVm h¡?

	 (iv)	 From which ‘‘Geosyncline’ Himalaya is originated.

		  {h‘mb¶ H$m CX²J‘ {H$g "^y-A{^Z{V' go hþAm?

	 (v)	 Which country is ranked number on in sugar cane 

production?

		  JÝZm CËnmXZ ‘| àW‘ ñWmZ {H$g Xoe H$m h¡?

	 (vi)	 Which river in Southern India makes delta?

		  S>oëQ>m ~ZmZo dmbr X{jU-^maV H$s H$m¡Zgr ZXr h¡?

	 (vii)	From which countries Japan does import coal primarily.

		  OmnmZ ‘w»¶V… {H$Z Xoem| go H$mo¶bo H$m Am¶mV H$aVm h¡?

	 (viii)	Which country has the lowest population density and also 

mention the figure?

		  g~go H$‘ OZg§»¶m KZËd {H$g Xoe H$m VWm {H$VZm h¡?

	 (ix)	 Which pass links Kabul and Peshawar?

		  H$m~wb Am¡a noemda H$mo H$m¡Zgm Xam© {‘bmVm h¡?
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	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn H$mo AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡&

2)	 Explain the significance of Suez canal?
	 ñdoO Zha Ho$ ‘hÎd H$mo g‘PmB¶o&

3)	 Explain the factors which influence the climate of Asia.
	 E{e¶m H$s Obdm¶w H$mo à^m{dV H$aZo dmbo H$maH$m| H$mo ñnîQ> H$s{OE&

4)	 Comment in brief on the industries of China.
	 MrZ Ho$ CÚmoJm| H$m g§jon ‘| dU©Z H$s{OE&

5)	 Explain the production of minerals of Kuwait.
	 Hw$d¡V Ho$ I{ZO nXmWm] Ho$ CËnmXZ H$m dU©Z H$s{OE&

6)	 Evaluate the production of iron and steel in India.
	 ^maV ‘| bm¡h-BñnmV CËnmXZ H$mo g‘PmBE&

7)	 Make a note on the solutions for the problems caused by 
population boom.

	 OZg§»¶m d¥{Õ H$s g‘ñ¶mAm| Ho$ g‘mYmZ {b{IE&

8)	 Comment on the cotton textile industry of China.

	 MrZ Ho$ gyVr dó CÚmoJ na {Q>ßnUr {b{IE&

9)	 Comment on the railway transport in Asia.

	 E{e¶m ‘| aob n[adhZ na {Q>ßnUr {b{IE&
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	 Section - C	 2 × 14.5 = 29
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
14.5 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 14.5 A§H$m| H$m h¡& 

10)	 Describe the geographical features of Asia continent.

	 E{e¶m ‘hmÛrn H$s ^m¡Jmo{bH$ {deofVmAm| H$m dU©Z H$s{OE&

11)	 Explain the production and distribution of the Iron-ore.

	 bm¡h-A¶ñH$ CËnmXZ Ed§ {dVaU H$mo g‘PmB¶o&

12)	 Evaluate Wagner’s concept of continental drift.

	 doJZa Ho$ ‘hmÛrnr¶ {dñWmnZ {gÕmÝV H$mo g‘PmB¶o&

13)	 Explain the distribution of cotton textile producing countries of 

Asia.

	 E{e¶m Ho$ à‘wI gyVr dó CËnmXH$ Xoem| Ho$ {dVaU H$mo g‘PmB¶o&


